Yo =
1 AN
1. LEA4
T4 A5 AT N E s T
TH A4 TRINTFHE, I, Hra8) I E S PN
2. TENE
1)  FHEIT4 JSEGRTIN EE ST R & PR
2) X LM SCI N = -A
3) T b 379H M H = 64 3H18H
ES 4F0 7T 3H31H
4)  TEE

iz T ED R



)

B N ERE

THE4 | A5 FE TN T dE B s T

TEHXSy « TfE - FER H A7 B & & F # il ] 7
SapAFis = 1 32, 494, 520
LT = 1 26, 190, 720
PRHI T = 1 1,528,560 |$EH! 7, 200 m3
T -7 vy b #R M BEEAE 10, 000m3LA 150
, 000m3AJili ;
PEH L (ICT) =Y 1 2,051,280 | Al (ICT) 7, 200 m3
TH -7 vy b BEEMEL 10, 000m3LL 150, 000m
A
et AuE T = 1 22, 610, 880
PEBAAE T 2V 1 6, 303, 800
RABRAR T = 1 6,303,800 | kA - {X47 20, 000 m2
AR ()
AR Hi 20, 000 m2
(BRAR)
BRAR A (D) 5
AR Hi 20, 000 m2
(& Hh)
AR () 5
LA S 1 =K
ALK TE 1 =
i (RAR)
ALK TE 1 =
T (BRIR)
WGy 60 m3
(F'A)
WGy 200 m3
(BRAR)
T ERE = 1 16, 812, 957

-1 - iz T ED R




PR NERE

THE4 | A5 FE TN T dE B s T

THRXSy - LHE - @R H A7 ¥ = & F A il
LT = 281, 216
FEALEE T = 281,216
PERETE B T 2V 11,797, 149
(= ey 123, 158
ST FIHERE T 2V 11,673,991 | Lav))-} 160 m2
18-8-40 (&JF) = 10cm ;
av7)=h 110 m3
25
£78i0)] 7.46 t
SD345 D13 ;
B Hitk 11 m2
TR ARHER B Mk =20 ;
17K AR 20 m
CF (#t"H) 200 X5 ;
el 1 2
— AR
T 200 m2
(BT
{b#t - t=40mm ;
T 150 m2
(BT
VE T - t=30mm ;
KN AT 16 m
WAL =V VU ¢ 150mm 74 vy—HE ;
UiV /NS 45 T
7 9AFy) ¢ 150
AR 105 (550
SGP32A L=0.51m 45° ik ;
4718 T = 1, 706, 186

iz T ED R




B N ERE

THE4 | A5 FE TN T dE B s T

THEXSy - TH - fl5 H A7 B & & F A il ) EN
TAT 7 %S T = 1 1,689,251 | TJE M (HEiE - BEH) 71 m2
BHAITyv47Y RC-40 H EVE 150mm ;
A (FE - KR ER) 250 m2
RIE TR M-30 /£ EYE Mt=110mm ;
HJE (HE - BE ) 250 m2
FAEHURIET A2V (20) &fi%EE 50mm 1. 4mAST
(1)@4 v S v E50mmEL )
)8 (FIE - BEE) 250 m2
PRI ET A2y (20) E%E/E 50mm 1. AmATi
(1)@ v S v JE50mmLL )
X R T =K 1 16,935 |~ A baX iR 150 m
N AR ERIRL FERR 15em HIAE
HEE YR T 2V 1 1, 106, 906
By 2= L X 1 245,784 | BIREMIHELE O =1 V) 1 =
Gr-C-2B ;
g EUE L T = 1 487,355 |av))-MEiEM R L 31 m3
ARG IEY) B L ;
EEERR G 154 m
ATV MRS 15emPA T ;
2 e e 250 m2
TAT W MEZENR SRR 10c m
TEHR LB T =Y 1 373,767 | aRiE 31 m3
) -hik (5
o 25 m3
TAT7V AR
LSy 31 m3
) -hik (5
LSy 25 m3
TAT7V AR
BG4 i S 1 =K
B =NV
ek T =Y 1 1, 921, 500

-3 - iz T ED R




A NERE
TH4 | A5 AR TAUI R I E A T
THXSy - T - fly HOfr B & & fH # bl g
AmE L = 1 1,921, 500
[ELBE Ly X 1 49, 307, 477
Rk E v 1 7,041, 850
il v 1 1, 869, 850
FeAfriE gy = 622, 850 | fR5FEHE (ICT) 1 =X
VA7 W #E (ICT) 1 2
HGRESER (G5 L) v 1, 247, 000
il (FE L) v 5, 172, 000
Wi = 56, 349, 327
B E R v 18, 230, 000
TRl = 74, 579, 327
—fRE % v 13, 240, 673
T fifik& v 1 87, 820, 000
-

iz T ED R



